Efficiency vs dr

x 0.8
<
g o7
>
)
G 0.6
)
L=
o 0.5
0.4
0.3
0.2
0.1
o O
S —a— [_original_siep Dar-phasel-newgeom
© —.— DQM_mKFit_step2_tthar-phasel-newgeom
© 15 —— DQM_angle steé)z ttbar-phasel-newgeom
—— DQM_fast_siep2_tfbar-phasel-newgeom
W el
1l BRI

107 1072 10 1
TP min AR

[ Efficiency vs dr (track,jet) |
0.5

P, jet
o
. D

0.35

o
w

0.25

efficiency vs AR(T!

o
N

-1

Efficiency vs pu

o
a

0.45

iency vs PU
o
i

0.35

effic
o
w

0.25
0.2
0.15]
0.1
0.05
OIII:I“:III:I*I:III:III:I
| - +§++&+"’?£mtﬁ?ﬁ+’tﬁ .......

Ratio

7 ITPRIROP 1171111 £ A
20 40 60 80 100 120 14
Pileup




	Contents
	Page 1


